OQIaNIS
FHHINOV AOHUNOW 113A%N ZNHO Ol

IVdIDINNW m.rw.Mn:wmmn_
VIONITVA VOHOO QUBNYr3TY 3SOr "0

[ —
=

96.°/80'9} S18'o0¥ ove 1£2'228°95¢ $€0'016'22E 90¢'22¢'09 BZL1'286'T71E 0Jse9 [ap jejoL

(s} 0 0 0 0 0 sauo(aedioed

0 8GG'62E'Y 865'62¢E'Y 85G'62E'Y L¥2'L0E 11€'220'v sauoloe(Iqnp A sauoisusd

0 £59'988'8) £59'988'8) £59'988'8} 80'SEL'SH 169'+29'29 SOAISEd 8P UgIonuiwsiq
A epnaq k| ap uoloeZIOWY

06%'700'GL Z19'0L2'06 92Z's¥8' Lo} LLL'6pR'9LL £5€0LY' LS 79€'6/€'G9 {eydes ap oysen

90€£'€80'} £66'616'0¢¢C 108'09.'1€2 L0L'vP8'2eT SYL'¥8Z'LG 29€'65G'G. 1 8jusIII0) 0}SED)

[ _ (zaw=e

opeayipow b X opegoIdy

opmsalsgng i =
Soshg




